4

3 2 1
@RTREUU[HE unvERBEFERRAGSEMTE ZElCRighiR; Reserved. FREI FUER VEROEFFENTLICHUNG E:;EEJS% RAEE\N/D‘ESRL’%ENNS
ALLE RECHTE VORBEHALTEN HA 10 S DESCRIPTION DATE DWN | APVD
BESCHREIBUNG
D5 | REVISED PER ECR—21-123577 osJuL2022| RK | JB
1.6 SCREW TERMINATION 3 M3x10 1 CRIMP TERMINATION L M3x10 / SPRING CLAMP TERMINATION 5 M3x10
/ | \ / | / T TTTT T I 1
ovoslll, PN A | ficooool, MW A | AN T 6 bCH-
. \OOD2OD ﬁ <Al \OOO0O0O % < Hll \ % ks |
ETn 1 ré 5 E:f S ST 1 e 5T S S 51T 7o ﬁﬁ E:f -
J‘C 1 J‘& 1 / y
B L9 5 16 13 B L9 5 - 16 ] 495 16
B 56.5 - 228 ’ B 56.5 - 228 56 § 298
il .
1] Panel cut-out for confact insert
o) i when used without housing
A
Assembling instruction Sti % M3 L35
Confact arrangement / view from termination side DISTANCE FOR SAFETY | ” — |
CONTACT MARKING MAX. 24 mm BU N QO ‘
@ e ¢ o o o s S | Y J ‘
] D
e o ¢ o o @ o hd ]
LoD S| o o|o|D] D =
— — — — — — — — —
(V2] (V2] w w (V2] w (V2] (V2] (V2] ~t -
[an] [aa] [aa) m [aa] [aa) [an] [aa] [aa]
o o o o o o o o o
4 b fixing screw stainl. steel blank/even 8 [M3x10
4 4 4 b | & | L4 |fixing screw Stahl/steel nickel plated blue 7 |M3x10
NoTES 1 socket insert screw PBT light beige 6 |with AU contact
1 cover spring sfrain clip PBT light beige 5
1 SUITABLE CRIMP CONTACTS: SERIES HE/HA
OUTER DIMENSIONS OF INSULATION: MAX. 3,2 MM 1 1 cover crimp PBT light beige L
2 SUITABLE HOOD SIZE 2: SERIES HA; HD 1 1111111 1 |cover screw PBT light beige 3
SUITABLE INSERTION AND EXTRACTION TOOL: - - —
SCREWDRIVER 0,5x3 DIN 5264 1 socket insert spring strain clip PBT light beige 2
3 Strip lenght: Screw conection 10mm , , ; ;
Spring clamp canection 10mm Crimp conection 7.5mm 1111110111 111 [socket insert crimp&screw PBT light beige 1
L STANDARDS: ITEM NO
DIN EN 6198; DIN EN 60664-1 H21140(10L9[0L8I0FL10L6]0ESITEZ2E311-1 DESCRIPTION / BENENNUNG MATERIAL Surface COLOR / FARBE POS NOTES
DWN 08.02.2000
/\ 1POA§E¢SG|mﬁA CARTON. PRE_MOUNTED Zl N LLA VNVN Zl LLAA THIS DRAWING IS A CONTROLLED DOCUMENT. |™c iy - - bt
A ! % DIESE ZEICHNUNG IST EIN KONTROLLIERTES DOKUMENT CHg n 08.02.2000 [ ) onnectivity
SPECIAL PACKAGING @ . i
5, PGS A KRB [
SPECIAL PACKAGING ; mm ALLGEMEINTOLERANZEN —_ S k J[ . t
100 PIECES IN A KANN-BAN BOT u | P . Dl | |« @ 0 PLC o PRODUCT SPEC oc .e inser
< tlo | | |+ o 1 PLC S R - Buchseneinsatz HA.10.Bu
% PSS > 1d s ” Lo il 108—74007/
AN AP AR AL AR === dee” x BRI -
D D D 0 ) P D D - 0 Z 4 pXC + - SIZE CAGE CODE | DRAWING NO RESTRICTED TO
[ain ] e RN Ta T a a J a AT g e my NI (i a Y l'a & [ R GLES /WINKEL £ - 114—/74009 ZEICHNUNGS-NR NUR FUER
|22 % MATERIAL FINISH/OBERFLAECHE /FARBE WEIGHT o AB 00779 @‘:'W 103415 .
< || |< << <« g |<|< - A - " SCALE SHEET REV
e o e o e e e S I o S I CUSTOMER DRAWING/KUNDENZEICHNUNG weesstas] ] |BLATT ] ] D5
1470-19  (1/15) ‘




